Intermediate Algebra - 5.3-5.4 - Multiplying and Dividing Polynomials 16sept2015

Ch 5 - Exponential Expressions & Polynomials

HW #5 - Due Tuesday, 9/15:
5.1 #63-85 odd

HW #6 - Due Wednesday, 9/16:
5.2 #3-7odd, 15-250dd, 35-490dd

HW #7 - Due Tuesday, 4/22:
5.3 #25-290dd, 43-510dd, 61-670dd, 89-970dd, 109-1170dd

HW #8 - Due Friday, 9/25?
5.4 #19-25 odd; 27-43 odd; 55-61 odd
5.5 #21-47 odd

HW #4 - Due Tuesday, 4/29?
5.6 #3-131 odd
5.7 #35-49 odd, 51-57 odd, 61-750dd

Test 3 - Tuesday, 9/29?

Review Problems:
1. Write in interval notation: {x|x < —5}

ey

2. Solve. Write the solution set in interval notation.
6—4x>-3 and 3x+2< -1

_ﬁx>”7 =3 _ _
X<y n X=7 (=,

s —

~\ /g
3. Simplify. (x5x73)72(x~*x3)* _

-+ _4+_ ¥_
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Multiplying Two Binomials (FOIL Method)

(x+3)(x2 4x> - (x) +x(-4'x> 1-3(2&_) +3(— 1—)9

Special Cases:

(a+ b)(a —b) =a?—ab +ab — b? = a? — b?
(a+b)? =(a+b)a+b)=a?+ab+ab+b?*=a’®+2ab+b?
(a—b)?>=(a—b)(a—b)=a?—ab—ab+b*=a®—2ab + b?

(a+b)(a—b) =a%-b?
(a+b)? =a%+2ab + b?

(a —b)? =a%?—2ab + b?

Book Problems from section 5.3:

A= ¢ n
26. a™**(a""% +5a* -3) = &?Hh z) tQ . (50\z>+ Q """(_.5)

(@53

353},53@3@23(&}«(%)(%) H(- b) 2b’
4ol =20 210" = (o?

66. (x +y™) (x™ = 2x™y™ + 3y™) "

=y 2;4‘5-41?)7\‘5 +X|\,j—-1>(\\j -\*33
- 242!\3(\4_4‘)&& ;L n 2’.\—\-5\\5'\—

14

b-2b
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g
8 x¥1p (2X+> 0 \
=(2x+ |)<ZX+Q
=@;«a + A+ |
ot D (g-¥) = ou"'laLL

116. [x + (y + D]x -y + D]

\ ~N
Y “=(
SSRGS e R

126. Find (3n4)3 if5(n—1) = 2(3n — 2).
5n-5=lon—%

@@) ~5+4 = bn-5,

@()) “l=n

Eﬁl
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Orders of Magnitude, Multiplying & Dividing Scientific Notation

Rewrite 4 % 10* in decimal notation. 4 OOOO
] o .. 5.800x10"" ’
Express this quotient in scientific notation:
P q Tloxi0b (‘::) q % l O

o)
7—Xlo 7__)(

How many times smaller is 1 X 107 than 7 x 10782 O"t
| x(

The length of a water molecule is 0.000000000278 meters. Estimate the length
of a water molecule by rewriting it in the form of £ X 10Y meters, where & and Y

are whole numbers. 2 7’8 x( ~l6

5.4 Division of Polynomials

Long Division 5:}--2\
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4 (x® — 14x +24) = (x — 2) - m
X-12

A2 | X*-14x+24

(=20
12K +R49-
— (~12x+ 24
S —
6. (x3+4x27:z8)+(x+4) — >(Z_‘__ X?- 4_

- k?QE’ ‘\'4‘)@“) ) J
.,8 gwww

10. (18x% —3x+2) + (3x +2) — 1’2
oxra | BX*3xr 2

— (13120 .
~1Sx+2Z_ Ax =9
— (~15x~ LoD 3%+ | 12%-1{x + 10
12 =Tt
_[5XL +.10
- l9x™= 2

1D
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x+3x —x2+5x3-2 5 —X +x—'l
X+ 2 K+2 5)<+5x N tx-2

20
_3)( ")& -J—U (A% ox®
——X X +X =2

-(x-2x*D
gt - (X7+2x
3 (_5—43_—37& @ 20
20 2230250 (oK I5%) E=3
- _3X’:15x+2. o
(-30%-9)
- z D
lS)( —+ ()
synthetic Division only wac\c(sx;)l;g owhd; “j
28. (3x2+19x +20) + (x + 5)
-5{ 3 19
[ -5 2
5 4
o, "‘“*““:Lo"Kre"lmn@
30. (4x% — 8) \/(’fwgla T CK
VRO

16sept2015
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34. (3x% —15) = (x + 3)

- s 4 q - L2

-3 3 — X~ X+:

-3 & o9 X+3
3 -9/ 12

38, (X —dx? +x+6)+ (x+1) — Xz:‘b)(‘l' b
v -4 1 6
— 1 S — 6
| =2 0
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